CURRICULUM COMPENSATION

I RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR BUTLER ELEMENTARY SCHOOL BACKWARDS PLANNING ACTIVITIES FEBRUARY 16, 2022, \$32.26 PER HOUR, 2.5 HOURS FOR A TOTAL OF \$80.65 EACH: (10-2210-0000-1341-531-2)

Helton, Rachel

Rogers, Amber

II RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FRANKLIN MIDDLE SCHOOL IMSA ACTIVITIES JANUARY 24 THROUGH FEBRUARY 28, 2022, \$32.26 PER HOUR, 7 HOURS FOR A TOTAL OF \$225.82 EACH: (10-2210-4101-1341-000-0)

Adams, Jennifer

Alger, Camille

Zaffiri, Alise

III RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR STUDENT SUPPORT SERVICES INCIDENT ACTION 'PLANNING ACTIVITIES NOVEMBER 17 THROUGH NOVEMBER 18, 2021, \$32.26 PER HOUR, 10 HOURS FOR A TOTAL OF \$322.60: (10-2210-6220-1342-000-0)

Schoppenhorst, Debbie

IV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION K-2 LITERACY CURRICULUM JANUARY 31, 2022, \$32.26 PER HOUR, 1 HOUR FOR A TOTAL OF \$32.26 EACH: (10-2210-0000-1341-564-2)

Acker, Allison Perry, Whitney Pettis, Jessica Baldin, Jennifer Barham, Ashley Price, Jessica Cantrell, Kenda Seaver, Christine Stewart, Shelley Dockter, Emily Herman, Katherine Terrell, Temary Komnick, John Totura, Jessica Metzke, Deana Zaffiri, Alise

Nolting, Jenny

V RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR TITLE I NON-PUBLIC INTERVENTION ACTIVITIES FEBRUARY 7 THROUGH FEBRUARY 16, 2022, \$32.26 PER HOUR, 28 HOURS FOR A TOTAL OF \$903.28: (10-3700-0000-1243-531-2)

Lamsargis, Kathy

VI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR TITLE I MATH LEADER ACTIVITIES NOVEMBER 15, 2021 THROUGH FEBRUARY 18, 2022, FOR RATE SPECIFIED: (10-2210-0000-1341-531-2)

Baldin, Jennifer	1.00 Stipend	\$208.00
Barnard, Angela	1.00 Stipend	74.75
Borders, Ashley	1.00 Stipend	104.00
Bremer, Traci	1.00 Stipend	162.50
Brillhart, Connor	1.00 Stipend	29.25
Bryant, Sydney	1.00 Stipend	208.00
Cox, Heather	1.00 Stipend	29.25
Dabbs, Kathryn	1.00 Stipend	104.00
Davis, Holly	1.00 Stipend	87.75
Etchill, Jamie	1.00 Stipend	32.50
Graham, Brianna	1.00 Stipend	341.25
Hanes, Decky	1.00 Stipend	29.25
Holler, Melinda	1.00 Stipend	318.50
Jones, Terwanna	1.00 Stipend	117.00
Kent, Jena	1.00 Stipend	29.25
Kother, Amanda	1.00 Stipend	162.50
Lafountain, Taunja	1.00 Stipend	279.50
Logsdon, Alicia	1.00 Stipend	146.25
Love, Brenna	1.00 Stipend	237.25
Nolting, Jenny	1.00 Stipend	45.50
Perry, Whitney	1.00 Stipend	237.25
Ramsey, Robin	1.00 Stipend	29.25
Roher, Kortney	1.00 Stipend	325.00
Schurman, Jennifer	1.00 Stipend	221.00
Stahr Trimpe, Sarah	1.00 Stipend	325.00
Wilson, Krista	1.00 Stipend	533.00
Wiseman, Melissa	1.00 Stipend	87.75

VII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION MIDDLE SCHOOL SPECIAL EDUCATION READING WORKSHOP FEBRUARY 9, 2022, \$32.26 PER HOUR, 1 HOUR FOR A TOTAL OF \$32.26 EACH: (10-2210-0000-1341-564-2)

Allender, Jennifer Appenzeller, Lisa Gordon, Tracy Gwinn, Melissa Rudin, Rebecca Sullivan, Kathryn VIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR TITLE I NON-PUBLIC INTERVENTION ACTIVITIES DECEMBER 7, 2021 THROUGH FEBRUARY 15, 2022, \$32.26 PER HOUR, 16 HOURS FOR A TOTAL OF \$516.16: (10-3700-0000-1243-531-2)

Schrenk, Nancy

IX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR EARLY START COACHING WITH INSTRUCTIONAL LEADERS JANUARY 19, 2022, \$32.26 PER HOUR, 1 HOUR FOR A TOTAL OF \$32.26 EACH: (10-2210-6431-1341-481-2)

Ferry, Audra Loken, Susan Kieffer, Shelley Servough, Carrie

X RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION SCIENCE LEADER ACTIVITIES NOVEMBER 13, 2021 THROUGH FEBRUARY 18, 2022, FOR RATE SPECIFIED: (10-2210-0000-1341-564-2)

Benoit, Claire	1.00 Stipend	\$16.25
Etchill, Jamie	1.00 Stipend	32.50
Hanes, Decky	1.00 Stipend	29.25
Ramsey, Robin	1.00 Stipend	29.25
Schurman, Jennifer	1.00 Stipend	221.00
Schweska, Lisa	1.00 Stipend	133.25
Wilson, Krista	1.00 Stipend	533.00
Wiseman, Melissa	1.00 Stipend	87.75

XI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION ELEMENTARY ART PROFESSIONAL DEVELOPMENT FEBRUARY 11, 2022, \$32.26 PER HOUR, 2.5 HOURS FOR A TOTAL OF \$80.65 EACH: (10-2210-0000-1341-564-2)

Gilmore, Lynn Minder, Kelly

Gouchenouer, Kelsie

XII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION HIGH SCHOOL ELA PROFESSIONAL DEVELOPMENT FEBRUARY 7, 2022, \$32.26 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$48.39 EACH: (10-2210-0000-1341-564-2)

Eaton, Deborah Poe, Sarah
Emery, Erin Rennison, Laura
Holton, Teresa Thompson, Brandon

XIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION SPRINGFIELD RESILIENCY INITIATIVE TRAINING FEBRUARY 4 THROUGH FEBRUARY 5, 2022, \$32.26 PER HOUR: (10-2210-0000-1341-564-2)

Capps, Gail	8.00 hours	\$258.08
Dockter, Emily	8.00 hours	258.08
Eck, Lindsay	5.00 hours	161.30
Ericson, Stacey	8.00 hours	258.08
Fromm, Kelly	5.00 hours	161.30
Garcia, Michelle	3.00 hours	96.78
Goss, Courtney	1.75 hours	56.46
Green, Allison	8.00 hours	258.08
Jackson, Beverly	8.00 hours	258.08
Johnson, Deanna	8.00 hours	258.08
Johnson, Marissa	8.00 hours	258.08
Kahl, Lindsay	7.00 hours	225.82
Mcquillan, Marilou	8.00 hours	258.08
Mitchell, Natalie	8.00 hours	258.08
Neely, Gail	8.00 hours	258.08
Rahman, Asima	8.00 hours	258.08
Reynolds, Katie	8.00 hours	258.08
Riedel, Bridget	8.00 hours	258.08
Scheffers, James	8.00 hours	258.08
Scherbing, Laura	8.00 hours	258.08
Sholtis, Kelly	8.00 hours	258.08
Smith, Kimberly	8.00 hours	258.08
Tennant, Mary	6.00 hours	193.56
Wallner, Jennifer	8.00 hours	258.08

XIV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION MATH LEADER ACTIVITIES NOVEMBER 13, 2021 THROUGH FEBRUARY 18, 2022, FOR RATE SPECIFIED: (10-2210-0000-1341-564-2)

Elkin, Victoria	1.00 Stipend	\$58.50
George, Cynthia	1.00 Stipend	162.50
Godefroid, Amie	1.00 Stipend	104.00
Hubbs, Sally	1.00 Stipend	162.50
Poss, Nichole	1.00 Stipend	341.25
Tarvin, Kandace	1.00 Stipend	126.75

XV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION LITERACY PILOT COLLABORATION HOURS JANUARY 26 THROUGH FEBRUARY 9, 2022, \$32.26 PER HOUR, 6 HOURS FOR A TOTAL OF \$193.56: (10-2210-0000-1341-564-2)

Williams, Kauntessa

XVI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION HARVARD PARK GRADE LEVEL PLANNING FEBRUARY 1 THROUGH FEBRUARY 14, 2022, \$32.26 PER HOUR: (10-2210-0000-1341-564-2)

Blakley, Kaylee	4.00 hours	\$129.04
Campbell, Melissa	1.00 hours	32.26
Dold, Jena	6.00 hours	193.56
Durbin, Lori	1.00 hours	32.26
Hardy, Angela	1.00 hours	32.26
Langen, Natasha	2.00 hours	64.52
Parkinson, Vanessa	1.00 hours	32.26
Roark, Heather	1.00 hours	32.26
Stoll, Nicole	2.00 hours	64.52

XVII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION MATHENY/LEE KIDZEUM PLANNING JANUARY 12 THROUGH FEBRUARY 9, 2022, \$32.26 PER HOUR, 1 HOUR FOR A TOTAL OF \$32.26 EACH: (10-2210-0000-1341-564-2)

Dykstra, Blanca Pride-Boatman, Laundra Escobar, Natasha Quarton, Michael

XVIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION YEAR ONE TEACHERS FORUM NUMBER 6 JANUARY 13, 2022, \$32.26 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$48.39: (10-2210-0000-1341-564-2)

Bland, Steven

XIX RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR DEPT OF INSTRUCTION SPRINGFIELD RESILIENCY INITIATIVE TRAINING FEBRUARY 4 THROUGH FEBRUARY 5, 2022, \$20.00 PER HOUR: (10-2210-0000-1341-564-2)

Johnson, Victoria	7.75 hours	\$155.00
Morris, Michelle	3.00 hours	60.00
Olson, Jerin	3.00 hours	60.00
Rye, Andre	7.25 hours	145.00

XX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION HARVARD PARK GRADE LEVEL PLANNING JANUARY 31, 2022, \$32.26 PER HOUR: (10-2210-0000-1341-564-2)

Blakley, Kaylee	2.00 hours	\$64.52
Dold, Jena	2.00 hours	64.52
Durbin, Lori	1.00 hours	32.26
Langen, Natasha	1.00 hours	32.26
Roark, Heather	1.00 hours	32.26

XXI RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR EARLY START COACHING WITH INSTRUCTIONAL LEADERS JANUARY 19, 2022, \$26.75 PER HOUR, .75 HOURS FOR A TOTAL OF \$20.06: (10-2210-6431-1360-481-2)

Rockford, Jean

XXII RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR TECHNOLOGY DEPARTMENT EMPOWER ALL ABILITIES CONFERENCE TECH SUPPORT ACTIVITIES FEBRUARY 26, 2022, \$48.11 PER HOUR, 5 HOURS FOR A TOTAL OF \$240.55: (10-2210-6220-1165-000-0)

Jones, Caleb